
1) £+.1=2+1=
3 3 1

2) .1..§.+ JL = 15 + 8 =.1..§. or 1Z.
20 20 1 8 a-

3) 1L+ .£.- = 8 + 6 = §. or 1£
12 12 1 6 6.

4284) -x-=-
5 5 25

5) §. xl =...§..
8 2 16...

1 2 26) -x-=-
3 5 15

9 8 1
7) 12"-12" =12"

8 70 78
8) 80 + 80 = 80

9 4 13
9) "18+"18 ="18

.1..;l+ .;l = 52 + 54 = 106 or 134
18 4 72 72 72 72,

10) 2,044

11) 59,688

12) 8,692

13)

14)

15)

16)

17)

done

(700) -i- (70) = (10)

(900) + (20) ::::(40 or 45)

50.;- 2 = 25; 25 x 1 = $25

6 7 13
42 + 42 = 42

6 5 1
18) 15-15 = 15
19) 24 + ...i.. = 24 + 4 = 6

32 32 1

1 3 320) - x - = - cup
248

1) §.+.2.=5+6 =§.
8 8 1 6

8 . 3 8+3 8 2
2) 12"~12"=-1-=3 or 2'3

3) .1£+ ~ = 12 + 4 = 3
24 24 1

4 1 44) -x-=-
5 10 50

515
5) 6' x 12"= 72

1 1 16) -x-=-
2 4 8

5 8 13
7) 20 + 20 = 20

40 35 5
8) 50 - 50 = 50

9) .1£+11= 23
22 22 ~
23 + £ = 69 + 44 = ill or 147
22 3 66 66 66 66

10) 560 .

11) 12,376

12) 15,990

13) (600).;- (40) ::::(15)

14) (400).;- (80) = (5)

15) (400).;-(10)=(40)

1 2 216) - x- =-
5 3 15

17) 1 + ..1..= .!§. + ~ = 16 + 4 = 4
4 16 64 64 1

3 1 12 7 19
18) 7'+'4=28+28=28

19) 256 x 35 = 8,960

20) ~ _.1 =..1. ~ x..1 = 20
5 5 5' 6 5 30

11/\

1) done

2) 1 x 10
2x5
1,2, 5, 10

3) 1 x 18
2x9
3x6
1,2,3,6,9,18

4) yes

5) no

6) no

7) no

8) yes

9) yes

10) yes

11) yes

12) no

13) yes

14) no

15) yes

16) yes

17) yes

18) no

19) done
20) .L. 3, .5." 15

1,2....5." 10

GCF=5

21) 1, 2...~Q

1,2,~,Q,9, 18
GCF=6

11

1) 1 x 9
3x3
1,3,9

2) 1 x 4
2x2
1,2,4

3) 1 x 14
2x7
1,2,7,14

4) yes

5) yes

6) no

7) yes

8) no

9) no

10) done

11) 1 x 28
2 x 14
4x7
1,2,4,7,14,28

12) 1,~,9
1,~,5, 15
GCF=3

13) 1,2,9,,10
1,9,,25
GCF=5

14) 1,2,~,Q
1,2,~,4,Q, 12
GCF=6

1) 1 x 8
2x4
1,2,4,8

2) 1 x 20
2 x 10
4x5
1,2,4,5,10,20

3) 1 x 22
2 x 11
1,2, 11,22

4) no

5) no

6) yes

7) yes

8) no

9) no

10) 1 x42
2 x 21
3 x 14
6x7
1,2,3,6,7,14,21,42

11) 1x34
2 x 17
1,2,17,34

12) 1 x 50
2x25
5 x 10
1,2,5,10,25,50

13) 1,2,1,§'
1,2,3,1,6,§., 12, 16,24,48
GCF=8

14) 1,3,9,,15
1,9,,7,35
GCF=5

15) 1,~,.!t
1,2,~,6,.!t,18
GCF=9

(J)
Q
c-O·
::::J
(f)
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o

~.



11

1) yes

2) yes

3) no

4) 1,g,4,I,H,28
1,g,3, 6, I, 14,21,42
GCF= 14

5) 1,2, Q., 6,~, 18
1,Q.,~,27,81
GCF=9

6) 1
6

8
7) 15"

6
8) 30

9) 28 + 2....= 28 + 5 = 28 or 5 ~
35 35 1 5 5

10) 1§.+1L=15+8=1§. or 1I.
24 24 1 8 8

11) 24+2....=24+5 = 24 or 4.1.
30 30 1 5 5

12) done

13) 9 39
51

14) 20

15) 1 +1 = .1.+,£= 2.eaten
2 4 8 8 8

§. - .§. = ~ left
8 8 8

6 10 16
16) 30 + 30 = 30

17) 1/3 of 36 = 12 girls

36 - 12 = 24 boys

41418) -x-=-
5 2 10

111:
1) yes
2) no
3) 1, Q., 25

1, 2, 3,Q.,6, 10, 15,30
GCF=5

4) 1, Q.,5,~, 15,45
1,Q.,~,27
GCF=9

5) u
24

3
6) 18
7) 1§.

24

8) 20 + JL = 20 + 8 = 20 or 2.1.
32 32 1 8 8

9) 36 + JL = 36 + 9 = 4
54 54 1

10) i +.§. = 4 + 6 = i
8 8 1 6

24 28
11) 56 < 56 r

6 5
12) 15" >15"_
13)20<27

36 36_

14) 8 '
15) 9 45

74

16) 40lQ
22

17) 25 x 52 = 1,300

2 14718) -+-+-=-
8 8 8 8
§._Z=l
888

19) 24 + ...i.. = 24 + 4 = 6
32 32 1 '

1 1 1
20) 12x'4 = 48,

11

1) no
2) no

3) 1, g, 4, 8, 16
1,g,17,34
GCF=2

4) 1,z 3, 1, 6, 12
1, z.s. 5,8,10,20,40
GCF=4

5) 5/18

6) 3/20

7) 12/21

8) 2....+ JL = 3 + 9 = ],
27 27 1 9

9) 1§.+ g = 15 + 12 = 1§. or 12....
18 18 1 12 12

10) 1§..+JL= 16+8 =2
32 32 1

11) ..2..-<lQ
12 12

12) 40 = 40
80 80

9 24
13) 108 < 108

14) 13

15) 5.lll.
79

16) 28
17) 14 + 14 + 14 + 14 = 56' perimeter

1/7 of 56 = 8' for door openings
56' - 8' = 48' baseboard

18) yes

4 8 12,..
19) 32 + 32 = 32 ..l-
20) 1/8 of $48 = $6 1J

1/4 of $48 = $12
$6 + $12 = $18
$48 - $18 = $30

12A

1) done

2 2 12) - +- =-
4 2 2

3) jJi+ 2. = ~
24 6 4

4) 1L+i='£
12 4 3

5) done

6) ],
4

7) 1
2

8) done

9) 1, z.s
1, 2., 3, .4.. 6, 8, 12, 24

GCF=4

4 4 1
24 +"4 ="6

10) 1,g,Q.,Q

1, g,Q.,Q,9, 18

GCF=6
..2..-+2.=.1
18 6 3

11) 1,g,Q.,Q,9, 18

1,g,Q.,5,Q, 10, 15,30

GCF=6

18 , 6 _ 3
30 -r- 6" - 5"
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